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In a distribution 0f 160 values i&_ﬁ, m
at least 120 fall within the interval a.u_.

Approximately the percentage of value
should fall in the interval (64.5, 79.5) is : g

a) 75%
b) 93.75%
c) 88.88%
d) 96%
e) 55.55%
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‘attempt = 1767 708cmid =2751 16&page=4

A data set produced the five numbe
outliers in this dagga set

Minimum | First

Duartile
31.2

-

summary shown below. There are no

Which of the tollowing conclusions capy be drawn from the darg?
) The mean js less than 44 5

“.I' -\F’]FI"""IIJI-HL"\ -"‘.i”-- of ”IL' ALUCS are hl..'l'.l'.'- L
I1) Approxunately 30% of the scores lie betweey 31 Zand 59 g G
i)l only

b Il only

c) Il anly

d) 1 and 11 onls
e) 1L and I onlx




. Aset of data has the following five number summary:

Miamon ﬁntﬁwﬁl_:___‘_ Media Third(hm?c] Matmum l
) O T "N B W
Which of the following contains all the outliers in the
distribution?
a) 83, 83, 90

b) 78, 80, 85, 90
c) 75, 80, 85

d) 2, 3, 85,90
e) 0, 80, R4, 89
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A data set produced the five number summary showy be
outliers in this data ser

Minimum |

low. There are no

Maximum

Which of the following conclusions can be i

awn trom the data?

[) The mean is Jess than 44 .5
11y .'lnp]rn'-wu;lh:il_x 75% of the seores are below 59 §

HI) Approximatels 0% of the scores lie between 31 2 and 598 [3

a)l only

Bl T only

) Il only

d) T o 110 Ol
el 11 and I onis




3) X

There are three children in a room, ages five, six and
seven. If a six-year-old child enters the room, then

a) The mean age will stay the same but the variance
will increase

b) The mean age and variance will stay the same

¢) The mean age will stay the same but the variance
will decrease

d) The mean age and variance will increase

¢) The mean age and variance will decrease

hete 1o search
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@18 ;rw-ttpsz.fflmsg,rstem.ju.eclu.jnfmcdfquizfattempt.php?atmmph1 757528cmid

| For the following grouped frequency distribution

Class | 0-5

6-11 | 12-17 | 18-23 |
| frequency 2 8 [ 3 ]

[
The number of observations that lie below 21.5 is
a) 19

b) 8
c) 6
d) 14
e) 10

[
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In a distribution 0f 160 values with a mean of 2
at least 120 fall within the interval (67, T
Approximately the percentage of values that
should fall in the interva (64.5,79.5)is :

a) 75%
b) 93.75%
c) 88.88%
d) 96%,

€) 35.55%




Marked out of 2.00

" Flag question

In & distribution O 160 values with @ mean of 72,
at least 120 fall within the mterval (67, 77).
Approximately the percentage of values that
should Fall in the interval (64,5, 79.5) 1%

a) 75%
b) 93.75%
c) BE BRY%

-Ij:l L [

¢) 55.55%

Clear my choice
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1) Approximately 75% of the scores are below 59.8.

11} Approximately 50% of the scores lic between 31 2 and 59 8
| omly

1) 11 only

¢} [l only

d} | and 111 only

2] 11, end I only

a)
i)

)




.—dﬂaﬁai&onrm&ﬁumn a room, ages three, four. and five,

If a four-year-old child enters the room, then

a)The mean age wil] stay the same but the variance will

decrease
b) The mean age will st

ay the same but the variance will
mcrease

— i
¢) The mean age and tanance will stay the same

d) The mean age and var

ance will increase
€) The mean age and variance will decreas

Fa







raise for next year (each employee's
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A data set produced the five number summary shown below. There are
outliers in this data set.

Minimum First Median Third
_..,_;.:__m.r uartile

Which of the m.uzoﬁEm conclusions can be drawn from the amﬁa

I) Approximately 75% of the scores are above 31.2
I The mean 1s less than 44.5

II) Approximately 50% of the scores lie between 31.2and 67.
a)l only

b) II only

c) 11l only

d) I and III only
e) 1. and IlI only



Minimum First
uartile

1)) m%ﬂﬁmwmmﬁ? 75% of the scores are above 31.2.

B! The mean is less than 44.5.
_,.E_ Pﬁﬁwomm:mﬁ? 30% of the scores lie between 31.2 and m.m
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For a collection of 350 observations with a bell-
shaped frequency graph, the mean is X =60 and
the standard deviation is §=3. The numberof ©=
observations that lie in the interval (54, 57) is
approximately equals to:

a) 47
b) 245
c) 6

d) 41
e) 44
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Q7)
Given the sample data: a, b, ¢ with a <b <c.

If the mean is 9. the median is 10 and the range
1s 13, then a=

a) 10
b) 3
c) 2
d) 1
e) /
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a)The mean age will stay the same but the
will increase

b) The mean age will stay nW@ same but the var
will decrease

¢) The mean age and variance will stay the same

~ d) The mean age and variance will increase

¢) The mean age and variance will decrease




A data set produced the five number summary shown below. There a
outliers in this data set.

Minimum First Median _ hird Maximum
:.:.:_m. .::_a

Which of the mo:oﬁEm conclusions can be drawn from the mmﬁa

Il'lllli':l .I:Hll-ll it ;I.-I J

'[iill.
A (L

sl "I"q P

I) Approximately 75% of the scores are above 31.2

I The mean is less than 44.5

1) Approximately 50%0 of the scores lie between 31.2 and 67.
a)l only

b) II only

c) 11l only

d) I and 11T only
e) 1. and Il only
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A data set produced the five number summary shown below. There are no

outliers m this data set.
Minimum First Median Third | Maximum
uartile Juartile
“ 31.2 445 538 67
Which of the following conclusions can be drawn from the data?
1) Approximately 75% of the scores are above 312
I The mean is less than 44 5.
i) Approximately 50% of the scores lie between 31.2 and 67
a)l only
b) 11 only
c) Il only
d) | and Il only
€] Il and IT1 only
B o
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E—ﬂ set produced the five uﬁu_umn E shown below. ,—Hﬂn
1,.. outliers in this data set.

_ X

(i
H I

Hii

VMinimum First

i

I

il
Tl
i

._\

mw Approximately 75% of the scores are above 31.2 =
3| gmﬁmmu i1s less than 44.5. = u||1|
[IlI) Approximately 50% of the scores lie between 31.2 and m.w =
w Oﬂuw
I only
I only

and 111 only
. and I1I only




There are three children in a room ages three, four, and five.

It a four-year-old child enters the room. then

Y




Which of the following are true statements?

I) The standard deviation is the square root of the

variance.

II) The standard deviation is zero only when all
the same.

IIT) The IQR is strongly affected by outliers.
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a) [ only

b) I and III

c) I, IT and III

d) II, and 111
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mMarked out of

¥ Flog
question

£ Type here to search
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I —
M g
If the heights of students has a symmetric B _

distribution about the median Q2=170 ¢cm B ﬁ
And the lower quartile Q1=155 cm, then the F
inter-quartile range, IQR= T
a) 30

b) 15 =
G)- 1385 : %
d) 75 =
e) 50 n
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Suppose each employee in the company
a $3000 raise for next year (each employe:
salary is increased by $3000). The v
the salaries for the employees §=.

a) be multiplied by $3000
b) increase by $3000

¢) increase by 3000

d) be unchanged
e) be multiplied b

y 3000°

______ ____
il i

___.___ﬂ__u_r_p i __.m,“ .



Which of the following are true statements?

I) The standard deviation is the square root of the
variance.
1) The standard deviation is zero only when all values are
the same.

IID) The IQR is strongly affected by outliers.

a) I only

b) I and 1l

¢) L. 11 and 11l
d) 11, and 111
e)l and 11

L




ot For the following grouped frequency distribution

i I s A L I— e 5

L._-.m_mm.".ou-m_..,n_a.._.._.-----.-._w.....:._m.,u
| frequency | 2 | 8 7 3

The number of observations that lie below 8.5 is

a) 10 5
b) 8

c) 14

d) 6

e) 19
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Which of the following are true statements?

I) The variance is the square root of the standard deviation. [

II) The standard deviation is zero only when all values are the
same.

I11) The standard deviation is strongly affected by outliers.

a)land Il

b) I and 111
¢) 1. 11 and 111
d) I1. and 111

¢) None of the above gives the complete set of true responses.
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1) The variance is strongly affected by outliers

II) The standard deviation is zero only when all values are
the same.

IlI) The variance is the square root of the standard
deviation.




Marked out of 2.00

" Flag question

In & distribution O 160 values with @ mean of 72,
at least 120 fall within the mterval (67, 77).
Approximately the percentage of values that
should Fall in the interval (64,5, 79.5) 1%

a) 75%
b) 93.75%
c) BE BRY%

-Ij:l L [

¢) 55.55%

Clear my choice
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‘attempt = 1767 708cmid =2751 16&page=4

A data set produced the five numbe
outliers in this dagga set

Minimum | First

Duartile
31.2

-

summary shown below. There are no

Which of the tollowing conclusions capy be drawn from the darg?
) The mean js less than 44 5

“.I' -\F’]FI"""IIJI-HL"\ -"‘.i”-- of ”IL' ALUCS are hl..'l'.l'.'- L
I1) Approxunately 30% of the scores lie betweey 31 Zand 59 g G
i)l only

b Il only

c) Il anly

d) 1 and 11 onls
e) 1L and I onlx
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| For the following grouped frequency distribution

Class | 0-5

6-11 | 12-17 | 18-23 |
| frequency 2 8 [ 3 ]

[
The number of observations that lie below 21.5 is
a) 19

b) 8
c) 6
d) 14
e) 10

[
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3) X

There are three children in a room, ages five, six and
seven. If a six-year-old child enters the room, then

a) The mean age will stay the same but the variance
will increase

b) The mean age and variance will stay the same

¢) The mean age will stay the same but the variance
will decrease

d) The mean age and variance will increase

¢) The mean age and variance will decrease

hete 1o search
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A data set produced the five number summary showy be
outliers in this data ser

Minimum |

low. There are no

Maximum

Which of the following conclusions can be i

awn trom the data?

[) The mean is Jess than 44 .5
11y .'lnp]rn'-wu;lh:il_x 75% of the seores are below 59 §

HI) Approximatels 0% of the scores lie between 31 2 and 598 [3

a)l only

Bl T only

) Il only

d) T o 110 Ol
el 11 and I onis
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In a distribution 0f 160 values i&_ﬁ, m
at least 120 fall within the interval a.u_.

Approximately the percentage of value
should fall in the interval (64.5, 79.5) is : g

a) 75%
b) 93.75%
c) 88.88%
d) 96%
e) 55.55%



. Aset of data has the following five number summary:

Miamon ﬁntﬁwﬁl_:___‘_ Media Third(hm?c] Matmum l
) O T "N B W
Which of the following contains all the outliers in the
distribution?
a) 83, 83, 90

b) 78, 80, 85, 90
c) 75, 80, 85

d) 2, 3, 85,90
e) 0, 80, R4, 89
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1) Approximately 75% of the scores are below 59.8.

11} Approximately 50% of the scores lic between 31 2 and 59 8
| omly

1) 11 only

¢} [l only

d} | and 111 only

2] 11, end I only

a)
i)

)




.—dﬂaﬁai&onrm&ﬁumn a room, ages three, four. and five,

If a four-year-old child enters the room, then

a)The mean age wil] stay the same but the variance will

decrease
b) The mean age will st

ay the same but the variance will
mcrease

— i
¢) The mean age and tanance will stay the same

d) The mean age and var

ance will increase
€) The mean age and variance will decreas

Fa
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In a distribution 0f 160 values with a mean of 2
at least 120 fall within the interval (67, T
Approximately the percentage of values that
should fall in the interva (64.5,79.5)is :

a) 75%
b) 93.75%
c) 88.88%
d) 96%,

€) 35.55%
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Above 1s the Immnﬂmnﬂ—_- of the winnin g righ jumg
for the Olympic Games. The gﬁ of the histogram
approximatsly:
a) 75 inches

b) 81.25 inches
¢) 92.5 inches
d) 82.5 inches
€) 85 inches

= i T e B



In a distribution 0f 160 values with a mean of 72,
at least 120 fall within the interval (67, 77).
'Awmmdy the percentage of values that
should fall in the interval (64.5, 79.5) is :

a) 75%

b) 93.75%
c) 88.88%
S

€) 55.55?&
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Which of the following are true statements?

[) The variance 1s the square root of the standard deviation.

[I) The standard deviation is zero only when all values are the
same.
[11) The standard deviation is strongly affected by outliers.

a) l and 11

b) I and 111

¢) I, I and 111

d) 11, and 111

¢) None of the above gives the complete set of true responses.
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ILUESTION JF

Not yet answered
Marked out of 2,00

" Flag question

If the heights of students has a symmetric
distribution about the median Q2=170 cm

And the lower quartile Q1=1535 cm, then the 75"
percentile is equal to:

a) 13

b} 30

c) 50

d) 75

€) 185

Clear my choice

Question 6

Not yet answered
Marked out of 2.00

T Flag question
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Above ks the histogram of the gold medal wining high jumps
for the Olympsc Games. The 60 percemtile of the histogram is
WP

a) 73 mches

by 8125 mches
¢l 9.5 inches
d) K15 imches

el K3 mches

a)
b)

c)

[s] )
e)

Clear my choice

Question 4

Not yet answered
Marked out of 2.00

Flag question

Suppose each employee mn the company receives
a 83000 raise for next year (each employee's
salary is increased by $3000). The variance of
the salares for the emplovees will

a) be multiplied by $3000

b} increase by 530000

O
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mMarked out of 2.00

T Flag question

Aoiden s prosaced the e Bnnba susnmary shown below There ane o
war bews @ e daks sl

Wuanums Furul Bloshan Tl Saninisn
 wartide it b
2 .2 5 578 &7

Whih -'I=|J|:‘:I-'“l"\-‘-II-IEv"n-'}'l-l-‘lh-.Jdlll'i.'-:l..lu-lllj-lh 1I;u-iiu'

B e oty v ares Unan 84 5

I} Appuosmmately 75% of the scomes e bolow 5T 8

T Agprocanstely 50%s of 1he stores be bereeen 22 mud 37 8
all cmly

B 1 only

o} Il camly

d} | awnd BN ooy
Lo T

©c O O o O
2

Clear my choice

Question 4
Not yet answered
Marked out of 2.00

T Flag question

L]
Wb ol the fallaowyme are Hhae dalemerd s
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Question |

Not yet answered
Marked out of 2.00

¥ Flag question

If the frequency curve of a set data has a bell-
shape with mean 200 and vanance 100, then the
percentage of observations that lies in the
interval (220,230} 1s approximately equals to:
a) 81.5%

b) 83.5%

c) 2%

d) 13.5%

¢) 15.5%

©c O o O O
2

Clear my choice

Question 2

Not yet answered
Marked out of 2.00

V" Flag question
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First Exam [page 1 af 1)

J)LES OF STATISTICS/ auiill guaa

COUNEas PRINCIPLES OF STATISTICS /. atll aiee Ganeral First Exam

Q10)

For a collection of 200 observations with
mean 70 and standard deviation 6, the

interval !_?D—a,?l}+a] contains at least 150
observations.

The value of a= ¥
a) 12

b) 6

c) 2

d) 82




Marked out of 2.00

Flag question

A st ol ilovim hss Pl followmnig e oumbsen snnmar

Slmmmnum Fast Bfocdin Thard Yol mrmm
e | s
&
Whischs ol the folk it | il
TR AR
o 17 TE, B, 55 }
g ) )
2 %
I L5 I

Clear my choice

Question 2
Not yet answered

Marked out of 2.00

¥ Flag question




Question 8

Not yet answered

Marked cut of 2.00

v

Flag question

I'here are three children in a room, ages five, six and
seviem., 1 a six-year-old child enters the room, then

a) The mean age will stay the same but the varfance
will inereasc

b The mean age and variance will stay the same

) The mean age will stay the same but the variance
will deercase

di The mean age and variance will inerease

) The mean age amd variance will decrease
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Question 3
Not yet answered
Marked out of 2.00

Flag question

Above = the histogram of the pold medal winning high jumps
lor the Olympec Ceames. The 60 percemile o the hisiogran s
J.I\"J:-IIH.EIH.'I'.I.'I\

a) T5 mches

by B1.25 mwchos

¢l 915 inches

dy K25 mches

€] K3 mches

a)
b)

c)

Question 4

Not yet answered

Marked out of 2.00




Question 8

Not yet answered
Marked out of 2.00

Flag question

There are three children in o room, ages Mve, six and
seven, If a siv-yvear-old child enters the room, then

a) The mean age will stay the same bl the variance
will increase

bj The mean age and variance will stay the same

¢) The mwean age will stay the same but the varinnce
will decrease

di The mean age and variance will increase

¢) The mean age and variance will decrease

Clear my choice
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Question [
Not yet answered
Marked out of 2.00

¥ Flag question

For the lollowmg prouped frequency distnbubion

s U=3 6- 1l 1d=17 18- L}

freguency . K T

The number of observations that lie above 8.5 15
ay 10
b B
)6
dy 19
¢l 14

Clear my choice

Queastion 8

Not yet answered

Marked out of 2.00
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A data set produced the five number summary shown below [here are no
authers m this data set

L
 Quartile Duartile

Which of the followine conclusions can be drawn from the data”

IV The mnean s less than 445

I1) Approximately 75% ol the scores are below 50 8

1) Approximately 50% of the scores he between 3 1.2 and 59 .8
111 enl

B I omly

¢} 11T only

d) 1 andd I

el I and Tl on
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Generdl First Exam

Question 5

Not yet answered
Marked out of 2.00

V" Flag question

75 B0 B3 S0 a5
Winnng Jump (Inches)

Above 15 the histogram of the gold medal winmng lugh jumps for the Olympic
Games. The mean of the histogram 1s approxunately:

a) 75 mnches

b} 81.25 mches

e) 925 mches

d) 82.5 nches

@) 85 mches




o)
The table below shows the marks gained in a

test by a group of students.
Mark | 2| 3|4 15

Numberof | 5 |11 | k[ 6 | 2
students

The median is 3 and the mode is 2.
The possible values of £ are:
a) 7and8

N
3 r
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